D1viSION WITH A REMAINDER II (H - SET 4)

DIVISION WITH 1 TO 10 Name:
Time: Score: y—
1) 8600 = 5 = 226) Q8788 +— 7 =
212) 18349 = 2 — 227) 29159 =6 =
213) 21873 = 5 = 228) 15813 =2 =
21 35809 + 8 = 29 3202 +9 =
215 60937 = & = 230) H7978 + 9 =
216) 4935 = 1 = 231) 77804 + 9 =
217) 25971 = & = 232) 12929 = 6 =
25) 50317 + 7 = 29 7719 +1=
219) 30463 = & = 21 27041 -4 =
20) 63969 = 7 = 239 21044 = 3 =
21 79961 + 10 = 236 43098 + 7 =
222) 56699 + 10 = 237 49616 -6 =
223) 668 = 1 = 238) 53445 <+ 10 =
21) 24946 = 3 = 239) 22370 + 3 =
25 47091 = 7 = 210) 382066 - 4 =
Mathematics: Division - Level § - Horizontal - Set 4 9 culu
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